

Derivative Rules

p. 183 - 190 (3.1)

20

1. $\frac{d}{dx}(c) = 0$

2. Power Rule $\frac{d}{dx}[x^n] = nx^{(n-1)}$

3. Constant Multiple Rule $\frac{d}{dx}[cf(x)] = cf'(x)$

4. Sum & Difference Rule $\frac{d}{dx}(u \pm v) = \frac{du}{dx} \pm \frac{dv}{dx}$

5. $\frac{d}{dx}[e^x] = e^x$

**1. If $f(x) = x^{3/2}$, then $f'(4) =$

$$f'(x) = \frac{3}{2}x^{1/2}$$

$$f'(4) = \frac{3}{2}(4)^{1/2} = 3$$

For 2 - 3, differentiate each function.

2. $\frac{1}{2\sqrt[3]{x^2}} = f(x)$

$$f(x) = \frac{1}{2}x^{-2/3}$$
$$f'(x) = \left(\frac{1}{2}\right)\left(-\frac{2}{3}\right)\left(x^{-5/3}\right)$$
$$= -\frac{1}{3x^{5/3}}$$

3. $a(t) = \frac{-(t^4)}{2} + 3t^3 - 2t$

$$a'(t) = -\frac{1}{2}(4)t^3 + 9t^2 - 2$$
$$= -2t^3 + 9t^2 - 2$$

**4. $\frac{d}{dx}\left(\frac{1}{x^3} - \frac{1}{x} + x^2\right)$ at $x = -1$ is

$$\frac{d}{dx}(x^{-3} - x^{-1} + x^2) = -3x^{-4} + x^{-2} + 2x = \frac{-3}{x^4} + \frac{1}{x^2} + 2x$$

$$\text{@ } x = -1 \Rightarrow -3 + 1 - 2 = -4$$

5. Find $f'(x)$ for $f(x) = 5e^x + 7x^\pi - 3$

$$f'(x) = 5e^x + 7 \cdot \pi x^{(\pi-1)}$$